WEEREEY INKERER — & 8fi7(mm) Page 1
] EHES 2K [ BX(Bd0)| KEt LS ==
SN E() E7] ] ES]
BEZ100 13,800 11,99 2,490 3,250
13 £ TR 1 (1) e A | LR L 1,080
(& 67-09 zEB8(B%) |aa@Ea)|aam)| &sn
11,150 9,500 2,405 700
SN () ] ] ES]
18t TR o AEZY100 6,800 8,970 2,470 3,360 1150
(E7TE) & 67-18 zEBER(BE%) |aa@E)|sam)|  &an '
8,100(#8179,580) 6,000 2,350 600
SN TEA()) E7] ] ES]
18 ¢ TR el : 7, , 2,47 g
FERT o 8100 y ?;OO _ #9 820 _ 0 3,090 1150 BAS LS 2,930kg
(TL—>A1) iZ 67-08 & P zEBR(E%) |aa@a)|asams)| &sn
- 7,700 6,000 2,350 600
BAEEE(Kg) ] ] ES]
28100 7,700 ,54 2,490 2,860 _
18t TR ;3” 700 | 9540 | 1,270 SRR
(& 8-89 zEER(E%) |ma@d)|mam)| &an
7,330 7,290 2,240 800
oy | BAEE (ko) ] ET] ES]
wt—J74—0O—4—8| FH=100 LAY 5,600 9,240 2,340 3,100 o
— — 1,130 BAM LS 2,930kg
(TL—>A41) (& 24-94 P zEE8B%) |aa@a)|mam)| &sn
7,380 5,500 2,150 400
i BAEEE(Kg) T T E]
wtt—I54—0O—4—8| /ELH100 o 6,800 9,660 2,310 2,920 o
b M — 1,150 RARLEE 2,930kg
(OL—2A4F) (% 67-20 ra zHER(B%) |@maEa)|mam)| &so
g 7,750 5580 | 2,220 385
AR (Kg) ESi] ES0r] ES]
#t > JE 6,000 8,660 | 2,490 3,530 L 100
(Z—ILT— b T 1) FHES(ER) [Fa@Ea st &ma @) !
6,920 6,200 | 2,400 2,350
B AEmE(Kg) ] ET] E]
18 t ERET FHPE100 4,400 6,420 2,200 2,500 R _
1,325 smI>7F
(77— A0O—)LE) (& 24-95 zBEE8(B%) |@ma@d)|mam)|  zsn
5,210 3,600 1,900 1,200
B AR (Kg) ] ET] ES]
4t RERER AEY100 2,500 6,190 2,230 2,450 R _
1,325 8SmII>7F
(77— AO—)LE) & 92-90 =BEER(B%) |@ma@a)|mam)|  &sn
5,440 3,600 1,900 1,200
B AREmE(Kg) ET] T E]
4t T« AEZ100 3,050 8,480 2,480 2,710 1.050
(F—ILS— RNU T4  93-12 zHEER(E%) |Amadd)|mam)| &0 '
4,820 6,150 2,350 700




BEXREZEY NKEREN —F Htr(mm) page 2

S5 EmES N 1= Ex(bH0)| KEttES i
EAIESE(Kg) ETj ETj Es
o 8823100 3,300 8,680 2,450 2,850
4t FRF o 1,100
& 89-83 wESER(E%) |#aAT)|fma @)
4,740 6,700 2,350 600
mAERS(kg) E=Toj 5 E]
o F#E=100 3,850 8,950 2,470 2,780 s
4 LR (B>) ¥ 21-18 TEEE(EE) |RA|AA@ET)|  H50 1100 IASR
4,540 6,200 2,350 600
s E(kg) EToj B E5)
2t Tt AR o BEX100 “‘""’ 3,800 6,180 2,180 2,790 N
- >Y 930 BAS LHE 2,930kg
(A=w o) +96-88 zEER(E%) |mads)|ma@)| a0
4,030 3,700 2,070 405
mAmERS(kg) ] ) E
) 845800 1,950 7,010 2,200 2,730
)y H—E 800
= 98-64 rmEERER) |@ard)|mawmdT)|  Hab
5,910
mAmERE(kg) ) ET) E
2 t TR BEX100 2,000 6,150 2,020 2,200 930
(F—ILF— RU T & 92-87 zEER(E%) |mads)|ma@)| &0
3,110 4,350 1,900 390
A TR#E (K9) B E ET
2t R AEZ¥100 2,000 6,350 2,220 2,170 880
(=T — U DH1) = 75-07 ZHEE(BR) |#ma|#ms ) HBD
3,340 4,370 2,050 400
EPNEEEACR) ) ET) S
2 t TIRF o BEX400 2,000 4,690 1,690 1,980 800
(7—ILT— KU D 54T) T 9-94 TrHEE=(BE) AIE(AT) | &7rE (KN) HH0D
2,530 3,035 1,600 380
EAERE(Kg) ) ] ES
HER130 1,000 4,840 1,880 2,050
I\ I—X 650
& 5-90 EHEER(ER) |(Fa@Y)|Fa@ms)| &s0
2,040 1,850 1,270 |  -----
EACIRE Hig AR | EEEE
. 0.99 t 2,000 27.1kw 2.2LLF
I\ IR ZX50U-5B -
N EES RAMEE | SIvEER [ B0 ETEE
5,010 6.4 2.3 0.9

2024/3/18R1E




